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Section : Domain Knowledge

Q.1 An overcurrent relay having a current setting of 125% is connected to a supply circuitthrough
a current transformer of ratio 400/10. The pick-up value will be:

Ans X AT0A
X B.6.25A
25 C.3.125A
& D.125A

Question ID : 75322911820
Status : Answered
Chosen Option : C

Q.2 Which of the following is NOT a valid advantage of cage rotor over wound rotor?
Ans 25 A.Low cost

25 B. Higher efficiency
5 C. Less maintenance

«" D. High starting torque

Question ID : 75322911874
Status : Answered
Chosen Option : D

Q.3 When a ball is dropped from a height, the correct sequence of energy transformation will be
Ans A

B. potential energy— sound energy — Kinetic energy
c. sound energy — Kinetic energy — potential energy

D. kinetic energy — potential energy — sound energy

Question ID : 75322911889
Status : Answered
Chosen Option : A



http://www.exammix.com/

Q.4 The Command window in MATLAB can be cleared using command.
Ans X A.CIr

" B.Clc
5 C. Delete all
< D.Cleanall

Question ID : 75322911849
Status : Answered
Chosen Option : A

Q.5 The shape of the Normal Curve is _.
Ans X A.triangular

< B.circular
5 C. rectangular
¥ D. bell shaped

Question ID : 75322911753
Status : Answered
Chosen Option : A

Q.6 FrafefEa 7 @ == a1 dvds Sifse (welded joints) & forg g srfa=meft (non-destructive,
uferor g?

Ans X A & dieror (Bending test)
«” B. Tag-faor uiiterr (X-ray test)
25 C. a1 udierr (Tensile test)
/< D. §ug uditerun (Impact test)

Question ID : 75322911848
Status : Not Answered
Chosen Option : =

Q.7 Which of the following is INCORRECT for electronic soft starters?
Ans 25 A.Low mechanical maintenance

#5< B. Improved power factor
" C. Higher maximum demand

25 D. Less mechanical stress

Question ID : 75322911867
Status : Not Answered
Chosen Option : —




Q.8 AutoCAD was developed by _
Ans X A. Adobe

< B. Apple
25 C. Microsoft
" D. Autodesk

Question ID : 75322911851
Status : Answered
Chosen Option : D

Q.9 af faseht Si=ft (DC) mtex &, ugy STATE (emf) Jr==1eh =T gt wITen g, &t I
Ans X A #iex faudia fam & gentt

/< B. gier & nifd A gt Sl #ik oia & v gt
o C. 3TH=R et ehell &
2< D. HYex srderrehd = i @ et @t

Question ID : 75322911776
Status : Answered
Chosen Option : B

Q.10 Which of the following is NOT an operation step in PLC?
Ans 25 A.Output scan

#5< B. Input scan

25 C. Program scan

" D. Power supply scan

Question ID : 75322911822
Status : Answered
Chosen Option : D

Q.11 The step angle for a stepper motor is 2°. If the stepping frequency is 3600 pulses per
second, then the shaft speedis _ _.

Ans " A 20mps
Z< B. 1800 rps
25 C. 200 rps
#< D. 3600 rps

Question ID : 75322911859
Status : Answered
Chosen Option : C




Q.12 In PLC, the amount of time that the entire program takes to execute is called time.
Ans X A.rise

#< B. dead

" C.scan

#5 D. delay

Question ID : 75322911773
Status : Answered
Chosen Option : C

Q13 The following symbol is used for:

Ans o A wound rotor induction motor
B. autotransformer
c. squirrel cage induction motor

0. DC compound motor

Question ID : 75322911898
Status : Answered
Chosen Option : A

Q.14 The eddy current losses in a synchronous motor are 100 watts at 100 Hz. Find the
frequency, if the losses are to be reduced to 25 W?

Ans X A.200Hz
" B. 50 Hz
#< C.400Hz
< D.25Hz

Question ID : 75322911875
Status : Answered
Chosen Option : C




Q.15 The Government passed the AIR Act in , to clean up our air by controlling pollution.
Ans X A. 1954

« B. 1981
X C.1974
2 D.1986

Question ID : 75322911789
Status : Answered
Chosen Option : D

Q.16 Which of the following bridges CANNOT be used for inductance measurement?
Ans X A.Owen’s bridge

" B.Kelvin's bridge
#< C. Anderson'’s bridge
#< D.Hay's bridge

Question ID : 75322911761
Status : Answered
Chosen Option : B

Q.17 The number of valence electrons in a Gallium atom is:
Ans X A. five

25 B.two
« C. three
25 D. four

Question ID : 75322911769
Status : Answered
Chosen Option : A

Q.18 Which of the following materials has the highest dielectric strength?
Ans X A Air

X B.0il
< C. Alumina
«" D.Rubber

Question ID : 75322911866
Status : Answered
Chosen Option : C

Q.19 If the voltage applied to a load is 100 sin 500t and current through the load is 10sin(500t +
60°), then the power consumed by the load is:

Ans X A.500W
#< B.1000 W
X C.750 W
o D.250 W

Question ID : 75322911760
Status : Answered
Chosen Option : C




Q.20 IPCC stands for:
Ans X A. Institute of Pollution and Climate Control

#< B. International Peace and Climate Committee
" C. Intergovernmental Panel on Climate Change
< D. International Pollution and Climate Committee
Question ID : 75322911786

Status : Answered
Chosen Option : D

Q.21 What will be the area under the curve y = x? and the lines x = -2, x = 1 and x-axis?
Ans A O square units

B. 12 square units

c. 3 square units

D. 6 square units

Question ID : 75322911895
Status : Not Answered

Chosen Option : —

Q.22 The rotor resistance and reactance of a 4-pole, 50 Hz, 3-phase slip ring induction motor are
0.4 Q and 4 Q per phase, respectively. Calculate the speed at maximum torque.

Ans X A.950 RPM

Z< B. 1150 RPM
«# C. 1350 RPM
#< D. 1250 RPM

Question ID : 75322911829

. Not Attempted and
Status - Marked For Review

Chosen Option : =

Q.23 With reference to the synchronous motor, which of the following statements are true or
FALSE?

1. The percentage slip is always zero.
2. The speed regulation is always zero.

Ans X A.1-False,2-False
< B.1-False, 2-True
25 C.1-True,2-False
" D.1-True, 2-True
Question ID : 75322911831

Status : Answered
Chosen Option : D




Ans

Ans

Ans

Q.27
Ans

Q.24 Which of the following features is INCORRECT for stepper motor?

25 A. Almost maintenance free
< B. No feedback
< C. Cost efficient

+" D. Highly complex circuitry

Q.25 Brass is an alloy of:

25 A. 40% copper and 60% zinc
25 B. 60% copper and 40% iron
" C. 60% copper and 40% zinc
25 D. 40% copper and 60% iron

Q.26 For transmission and distribution of electrical power, which of the following materials is

preferred?
«" A.Copper
25 B. Nichrome

#< C. Tungsten
25 D. Carbon

Ampere-Turns is a unit of _
25 A reluctance

" B. magnetomotive force
25 C. flux density
#< D. permeability

Question ID : 75322911774
Status : Answered
Chosen Option : B

Question ID : 75322911764
Status : Answered
Chosen Option : C

Question ID : 75322911844
Status : Answered
Chosen Option : A

Question ID : 75322911767
Status : Answered
Chosen Option : C




Q.28 The sub-conductors of a bundled conductor are separated from each other by a distance of
almost or more.

Ans & A.30cm
& B.15¢cm
5 C.10cm
X D.5cm
Question ID : 75322911803

Status : Answered
Chosen Option : B

Q2% The given symbol is used for:

24

dc

Ans A DAIC
B. SCR
' C. SCS
D. TRIAC
Question ID : 75322911887

Status : Answered
Chosen Option : C

Q.30 The principle of the operation of the Merz price protection system is:
Ans X A.voltage balance

#5 B. size balance
25 C. power balance
" D. current balance
Question ID : 75322911877

Status : Answered
Chosen Option : D




Q.31 The equation of the normal to the curves y = sin x at (0, 0) is:
Ans X A.x-y=0

&K B.x-y=1

W C.x+y=0

K D.x+y=1

Question ID : 75322911751
Status : Not Answered
Chosen Option : —

|Q.32 &t wre it Fieft (DC) mafi=t & e devate @ aogin srmafies s m g

Ans o A1 hpF HfiE
2 B.0ShpETA
2% €. 10 hp # afims
KD 025hpHTFH
Question ID : 75322911778

Status : Answered
Chosen Option : C

Q.33 The turn off time of an SCR is divided into two intervals, time and time.

Ans X A rise; delay

#5 B.reverse recovery; spread
#< C. gate recovery; spread

«” D.reverse recovery; gate recovery

Question ID : 75322911790
Status : Answered
Chosen Option : D

Q.34 & e watfee waEl & dra srfiesan R s g, oft @ & atetwl & &g & st
&

Ans X A 75
X B.30°
& C.o0
75 D.180°

Question |0 - 75322911801
Status - Answered
Chosen Option - €




Ans

Ans

Ans

Ans

Q.35 Which day is declared as ‘World Ozone Day'?

«" A. 16 September
< B. 5 June

25 C. 22 April

< D. 28 September

X A.240Q
X B.18Q
X c.200
& D.220Q

Q.37 P d | 29 o doang sy & A adi g

5 A. =T 3 (Star chain)

o B.ifd afim= (Policy circulars)
75 C. g%t 71 (Cluster chain)
X D. Rma 4 (Single chain)

Q.38 Which of the following for HVDC transmission is INCORRECT?

25 A. No skin effect
+" B. High corona loss
#5 C. Good voltage regulation

#5 D. Higher operating voltage

Question ID : 75322911787
Status : Not Answered
Chosen Option : =

Q.36 Abattery of 80 V with an internal resistance of 2 Q is to be charged from 200 V mains. Find
the value of the series resistance for charging current of 5 A.

Question ID : 75322911785

. Not Attempted and
Status “Marked For Review

Chosen Option : =

Question 1D - 75322911815
Status : Not Answered
Chosen Option - --

Question ID : 75322911806
Status : Answered
Chosen Option : B




0.39 e v SR i g g o o & af Rrega o g o 8, e @ wa Rem
et wriferes gt & arfires gt o 2, 3t werdem & RegaRtum o awra gt o § R ag aas
o WA R g HET AT 21
Ans o A TEIEEE WA (dielectric breakdown)
7% B. 9t w7 (Zener breakdown)
2% C. e 9 (avalanche breakdown)

#% D. SgFA T (reverse breakdown)

Question |0 : 75322911857
Status : Answered
Chosen Option - A

Q.40 What should be the minimum size of a Gl earth electrode for 15 hp motor?
Ans X A.90cm X 60 cm X 3 mm

o B.60 cm X 60 cm X 6 mm
25 C.30cm x30cm X 6 mm
25 D.60 cm X 60 cm X 3 mm
Question ID : 75322911795

Status : Answered
Chosen Option : D

Q.41 Reluctance motor can be used in _
Ans " A electric timing devices

#5 B. refrigerators
< C. cranes
25 D. traction drives
Question ID : 75322911832

Status : Answered
Chosen Option : A

Q.42 A stepper motor has 8 stator teeth and 6 rotor teeth. Find the step angle.
Ans o A 15°
X B.75°
X co15°
#< D.30°
Question ID : 75322911775

Status : Answered
Chosen Option : B




Q.43 = & ua= are agel g PrefaiEm J & = = e aeafeta =@ gt gy
Ans X A FEA SEATEEE

2 B. mewe Egsiags

75 C. T A AEAEEEE

& 0. afmi=m

Question ID : 75322911860
Status : Answered
Chosen Opticn - D

Q.44 For mass production, the most suitable layout is layout.

Ans X A. process
< B. fixed position
" C. product
< D.plant

Question ID : 75322911814
Status : Not Answered
Chosen Option : —

Q.45 Which type of wiring is mostly preferred for temporary installations?
Ans X A. Conduit wiring

#5 B. Lead-sheathed wiring
25 C. TRS wiring
" D. Cleat wiring

Question ID : 75322911842
Status : Answered
Chosen Option : D

Q.46 The amount of copper used by a 3-wire distributor having the same maximum voltage to
earth as compared to a 2-wire DC distributor is -

Ans X A.69.75%
X B.33.3%
@ C.31.25%
#$ D.66.7%

Question ID : 75322911865
Status : Answered
Chosen Option : B




Q.47 Cost of fuel transportation is minimum in a power plant and maximumina

power plant.
Ans X A.steam; hydroelectric

¥ B. hydroelectric; steam
< C. diesel; nuclear

< D. steam; nuclear

Question ID : 75322911798
Status : Answered
Chosen Option : B

Q.48 To operate two alternators in parallel, the must be matched for them.

Ans X A. frequency
< B. phase sequence
«" C. frequency, phase sequence and voltage

#< D.voltage

Question ID : 75322911873
Status : Answered
Chosen Option : C

Q.49 Which of the following starters is the most cost effective for an induction motor?
Ans " A Star-delta starter

#5 B. Stator resistance starter
< C. Auto-transformer starter

#< D. Slip ring motor starter

Question ID : 75322911879
Status : Answered
Chosen Option : A

Q.50 Which of the following is the most commonly used method of PLC programming?
Ans X A.Sequential flow chart

Z5 B. Signal flow graph
25 C. Functional block diagram
4" D. Ladder diagram

Question ID : 75322911872
Status : Answered
Chosen Option : D

Q.51 Which of the following is NOT a characteristic of organisational development?

Ans X A It utilises systems thinking.
25 B.ltis along-term approach.
& C.Itis an unplanned change.

< D. Itis a dynamic process.

Question ID : 75322911868
Status : Answered
Chosen Option : C




Q52I1fA=[105]landB=[308],findc=a*b.
Ans & A.[3040]

X B.[203]
X C.[4013]
X D.[5024]

Question ID : 75322911850
Status : Not Answered
Chosen Option : =

Q.53 Which type of single-phase induction motor is also called two value capacitor motor?
Ans X A.Shaded pole motor

< B. Capacitor start motor
#5< C. Permanent split capacitor motor

«" D. Capacitor start capacitor run motor

Question ID : 75322911827
Status : Answered
Chosen Option : D

Q.54 The Q-factor of an RLC circuit is 5 at its resonance frequency of 2 kHz. Find the bandwidthof
the circuit.

Ans X A.10kHz
" B. 400 Hz
5 C.1kHz
2< D.200 Hz

Question ID : 75322911763
Status : Not Answered
Chosen Option : =

Q.55 The density of SFg gas is:
Ans X A. one-fifth as compared to that of air.

25 B. one-third as compared to that of air
" C. five times as compared:to that of air

#5 D. twice as compared to that of air

Question ID : 75322911871
Status : Answered
Chosen Option : D




Q.56 For an induction motor, which of the following starters is the cheapest?
Ans X A. Slip ring motor starter

«# B.Star-delta starter
#< C. Stator resistance starter

25 D. Autotransformer starter

Question ID : 75322911838
Status : Answered
Chosen Option : B

@57 The given symbol is used for:

—o0

Ans X A SPDT
« B DPST
X c. SPST
2 0. DPDT

Question 1D : 753220911888
Status : Answered
Chosen Option : B

Q.58 Which of the following is NOT a workspace in AutoCAD?
Ans 25 A.3D modelling

" B. 3D printing
#< C. Drafting and annotation
25 D. 3D basics

Question ID : 75322911852
Status : Answered
Chosen Option : D

Q.59 In a cable, the maximum dielectric stress is experienced at the _
Ans X A bedding

« B. surface of conductor
#< C. lead sheath
< D.armour

Question ID : 75322911810
Status : Answered
Chosen Option : B




Q.60 For a transmission line, if L is the inductance and C is the capacitance per unit length of the line, then the surge Question

- f g ID:
impedance is expressed as: 75322911
Ans 894
& A = Status :
c Answered
Chose
¥ n
X B. . Option
2C TA
xc 2L
c

X0 \/IC

Q.61 Which of the following methods is NOT a valid method for maintaining the voltage withinlimits in
EHV transmission lines?

Ans 25 A. Synchronous condenser
5 B. Shunt capacitor bank
" C. Autotransformer tap-changing

25 D. Shunt reactors

Question ID : 75322911841
Status : Answered
Chosen Option : B

Q.62 The energy consumed by a 50 kW motor loaded at 30 kW for 6 hours will be _
Ans & A 180 kWh

< B. 50 kWh
#5 C. 120 kWh
25 D.300 kWh

Question ID : 75322911813
Status : Answered
Chosen Option : A

Q.63 Which of the following statements are true or FALSE?

1. In p-n-p transistor, majority charge carriers are holes.
2. Silicon is the preferred semiconductor as compared to Germanium.Ans

XA 1-True, 2 - False
25 B.1-False, 2-False
& C.1-False, 2-True

w” D.1-True, 2-True

Question ID : 75322911771
Status : Answered
Chosen Option : D




Q.64 In a transformer at full load, losses are zero.
Ans X A core

#< B. Eddy current
«# C. friction
25 D. copper

Question ID : 75322911834
Status : Answered
Chosen Option : C

Q.65 Normal distribution is symmetric about _
Ans X A. standard variation

" B. mean
25 C. variance

25 D. covariance

Question ID : 75322911752
Status : Answered
Chosen Option : B

Q.66 A cube having side 2 metres undergoes 1% increase in sides. Find the approximate change in the volume.

Ans

A 024m°

Question ID : 75322911884
Status : Not Answered
Chosen Option : =

Q.67 As perthe standard electrical design and estimation, the numbers of 5 A and 15 A socket
outlet for a dining room should be and , respectively.

Ans X A.three; two

/< B. one; one
« C.two; one
< D.one; two

Question ID : 75322911843
Status : Answered
Chosen Option : C




Q.68 Which of the following is NOT a part of coal fired thermal power plant?
Ans " A.Moderator

Z5< B. Chimney
< C. Condenser

< D. Turbine
Question ID : 75322911797
Status : Answered
Chosen Option : A
Q.69 The programmable logic controller is classified into two types; ______ and _

Ans o A. fixed; modular
#% B. actual; laboratory
< C. automatic; manual

5 D. local; remote

Question ID : 75322911821
Status : Answered
Chosen Option : C

Q.70 A 4-pole wave wound armature has 720 conductors and is rotated at 1000 RPM. Find the
generated voltage, if the useful flux is 10 mWh.

Ans X A.960V
o B.240V
K c.120vV
< D.480V

Question ID : 75322911780
Status : Answered
Chosen Option : B

Q.71 Which of the following materials offers the highest dielectric strength?
Ans X A. Paraffin wax

#5 B.Dry paper

" C. Mica

25 D. Asbestos

Question ID : 75322911766
Status : Answered
Chosen Option : D




Q.72 A two-input logic gate is giving low output when both the inputs are low. For all other input
conditions, the output is high. Select the correct logic gate.

Ans " A ORgate
25 B. NAND gate
< C. AND gate
#< D.NOR gate
Question ID : 75322911858

Status : Answered
Chosen Option : A

Q73 The given symbol is used for a:

Ans X A heater Question ID : 75322911893
Status : Answered
B.
X buzzer Chosen Option : C

« C. single electric lamp
X D. relay

Q.74 Which type of chopper can be operated only in the second quadrant?
Ans X A.ClassD

< B.Class A
" C.Class B
5 D.Class E

Question ID : 75322911862
Status : Not Answered
Chosen Option : —

Q.75 With the addition of tertiary winding, the Y-Y connection becomes___ connection.
Ans o AY-AY
25 B.Y-Y-A
25 C.AY-Y
& D.AY-A
Question ID : 75322911782

Status : Not Answered
Chosen Option : —




Ans

v A.

Q.77 Potential energy = ?
Ans X A mass X velocity X height

+" B. mass X gravitational acceleration X height
25 C. density X velocity X height

#< D. mass X velocity x displacement

Q.78 Which of the following is a vector quantity?
Ans X A.Length

#5 B. Voltage
" C. Velocity
< D.Mass

%7 Find the slope of the rangent to the curve y =
Ans o A 2

B. )

C. s

D. 3

Q.76 The maximum permissible leakage current in any installation is

2x
(x2+1)

at (0. 0).

of full load current.

Question ID : 75322911892
Status : Answered
Chosen Option : A

Question ID : 75322911758
Status : Answered
Chosen Option : B

Question ID : 75322911749
Status : Answered
Chosen Option : C

Question ID : 75322911883
Status : Not Answered
Chosen Option : =




Q.80 Which of the following is NOT a characteristic of ACSR?

Ans X A.Low maintenance

" B. High corona loss

< C. Low cost

25 D. High mechanical strength

Question ID : 75322911802
Status : Answered
Chosen Option : B

Q.81 Which of the following is NOT a pentavalent impurity?
Ans £ A. Antimony

< B. Arsenic
" C. Indium
< D. Phosphorus

Question ID : 75322911770
Status : Answered
Chosen Option : C

Q.82 Which of the following motors is suitable for 3D printing equipment?
Ans  «# A. Stepper motor
#< B. DC compound motor

25 C. Squirrel cage induction motor

< D. DC series motor

Question ID : 75322911876
Status : Answered
Chosen Option : A

Q.83 If an instrument has zero drift, the magnitude of error will be:
Ans X A.unpredictable

# B.zero
" C. constant
25 D. unity
Question ID : 75322911754

Status : Not Answered
Chosen Option : =




Q.84 1986 w1 gafarur e AfafFom urita g+ & are, et uftgtersn & Frg gafewofia set oma
& #q e g mad

Ans o A ST (EIA)
7< B. dam (PIL)
5 C. URER (FIR)
X D. digi (PUC)

Question ID : 75322911788
Status : Answered
Chosen Option: D

Q.85 How many immobile contacts are there in a double-break oil circuit breaker?
Ans & A .Two

< B. Four

25 C.One

25 D.Eight
Question ID : 75322911817

Status : Answered
Chosen Option : C

Q.86 Which of the following devices can be considered as an uncontrolled switch?
Ans X A.SCR

< B.IGBT
«" C.DAIC
< D. TRAIC

Question ID : 75322911861
Status : Answered
Chosen Option : B

Q.87 What is the colour of the neutral wire in a three-core flexible cable?
Ans X A. Yellow

" B.Blue
< C. Green
#5< D.Black

Question ID : 75322911809
Status : Answered
Chosen Option : B




Ans

Ans

Q.88 Which of the following is NOT a valid advantage of bundled conductor?

7% B. oftareH (operational)
7% C. wmafes (functional)
« D. 5 (top)

Q.90 A 4-pole, 50 Hz, 3-phase induction motor runs at a speed of 1200 RPM. Find the slip.

X A.0.25
< B.0.15
& C.02
#< D.0.1

Q.91 Parallel connection of battery cells increases:

25 A.internal resistance
#5 B. efficiency
#5 C. output voltage

" D. current capacity

Ans X A.Reduced surge impedance

< B. Reduced radio interference

«# C. Reduced cost of construction

#< D. Reduced voltage gradient

Question ID : 75322911804
Status : Answered
Chosen Option : C

Q.89 faneft dnaa o, siuie waves &% OR o aean g1
Ans X A =g (middle)

Question ID : 75322911816

Not Attempted and
S S
fatus Marked For Review

Chosen Option : —

Question ID : 75322911828
Status : Answered
Chosen Option : C

Question ID : 75322911784
Status : Answered
Chosen Option : D




Q.92 Polyphase wattmeters are made by attaching electrodynamometer movements onto
one shaft.

Ans X A.3
X B.4
o C.2
X D5
Question ID : 75322911853

Status : Not Answered
Chosen Option : —

Q.93 In a synchronous machine having a salient pole field structure, the pole shoe covers about
of the pole pitch.

Ans X A.one-third

¥ B. two-thirds
< C. one-fourth
25 D. one half
Question ID : 75322911830

Status : Answered
Chosen Option : B

Q.94 Ift,= Optimistic time, t,;= Pessimistic time. and t,;= Most likely time. Probabilistic time is given by:

Ans

XA
X B.
X C.

o D.

Question ID : 75322911890
Status : Not Answered
Chosen Option : =

Q.95 Find the transmission loss of 10 kV single-phase transmission line, if it delivers 800 kW at
0.8 pf lagging. Given that line resistance and line reactance is 0.2 Q and 2 Q, respectively.

Ans o A 2kwW
& B. 4 kW
X C.6kw
2 D.1kw

Question ID : 75322911805
Status : Not Answered

Chosen Option : —




Q.96 Find the resistance, if the colour code on a resistor reads Brown, Black, Red, Gold.
Ans X A.100Q+5%
2 B.100Q + 10%
& C.1000Q + 5%
2< D.1000Q +10%
Question ID : 75322911755

Status : Answered
Chosen Option : D

Q.97 In a steam power plant, the economiser is used to heat _

Ans o A feed water
< B. steam

X C.air

< D. coal

Question ID : 75322911799
Status : Answered
Chosen Option : A

Q.98 The distance s’ metres coverad by a body in 1 seconds, is given by s =32 - 121 + 5. The body will stop afier

Ans A 2
B. 4
C. 8
D. 12
Question ID : 75322911896
Status : Not Answered
Chosen Option : =
Q.99 Ina power plant, gravitational potential energy is converted into electrical energy.
Ans X A diesel
#5 B. nuclear
25 C. wind

" D. hydroelectric

Question ID : 75322911812
Status : Answered
Chosen Option : D




Q.100 State whether the following statements are true or FALSE.

1. Interconnected power systems have higher diversity factor.
2. An interconnected power system is represented by an electrical grid.

Ans < A. Statement 1 is true, statement 2 is false
25 B. Both the statements are false
«# C. Both the statements are true

< D. Statement 1 is false, statement 2 is true

Question ID : 75322911864
Status : Answered
Chosen Option : C

Q.101 Which of the following statements are true or FALSE?

1. Therecommended colour of earth connection is green.
2. The size of the earth wire is determined by the ampere capacity of the service wires.

Ans X A.1-False, 2-False
< B.1-False, 2-True
o C.1-True, 2-True
25 D.1-True, 2 - False

Question ID : 75322911796
Status : Answered
Chosen Option : D

Q.102 Half adder circuit can be produced using a two-input
gate.

Ans X A.OR; AND

gate and a two-input

«" B. XOR; AND
25 C. OR; NAND
< D. NOR; NAND

Question ID : 75322911772
Status : Answered
Chosen Option : B

Q.103 As per Indian Electricity rule, the recommended operating voltage for a long transmission
lineis _.

Ans X A.50kVto 100 kV
< B.20kV to 50 kv
" C. above 100 kV
#< D.0to20kV

Question ID : 75322911840
Status : Answered
Chosen Option : C




Q.104 The principle of operation of solar cell is effect.
Ans X A.thermoelectric

«" B. photovoltaic

25 C. Piezoelectric

25 D.skin

Question ID : 75322911800
Status : Answered
Chosen Option : B

Q.105 :ﬁﬁﬂm wvaen & mraafdss weEva (Middle management) # Pt F & & anfae gt
Ans X A wdardt
7< B. =uwrE
% C. way P
 D. forvmfra maees
Question ID : 75322911870

Status : Answered
Chosen Option : D

Q.106 In case of strip earthing, if the electrode is made of copper, then its cross-sectional area
should NOT be less than _

Ans X A.25mm X4 mm
& B.25mm X 1.6 mm
#< C.2.5mm X 16 mm
25 D.2.5mm % 40 mm

Question ID : 75322911863
Status : Answered
Chosen Option : A

Q.107 Two identical capacitors, each having a capacitance of 100 pF are connected in parallel.Find
the total capacitance of the parallel combination.

Ans X A.400pF
& B. 200 pF
Z< C.100 pF

< D.50 pF

Question ID : 75322911762
Status : Answered
Chosen Option : B




Q.108 25 mv, 2 mA F'sraf=ret gz (D'Arsonval movement) 3T JuaiT 100 V 3 guf &= araar
(full scale reading) aTet Steesitex & faman wrr=m &1 aftoy & 100 v ez grr e oo =

Hifagi
Ans X A 1.0MO
25 B.0.01 MO
" C. 0.1 MO
75 0. 0.001 MO
Question ID : 75322911757

Status : Not Answered
Chosen Option : =

Q.109 In a single-phase half bridge inverter, the load is the leading power factor load.
Ans " A RLC underdamped

& B.C

X C.LC
#5 D. RLC overdamped

Question ID : 75322911846
Status : Answered
Chosen Option : D

Q110 The given symbol is used for:

[Sa ]

Ans & A autotransformer starter
B. slip ring motor starter

C. star-delta starter
D. stator resistance starter

Question ID : 75322911891
Status : Answered
Chosen Option : A

Q.111 In a 3-phase, 6-pole star connected alternator, the stator has 90 slots and 8 conductors per
slot. Find the number of stator conductors per phase.

Ans X A.720
< B. 360
o C. 240
< D.120

Question ID : 75322911826
Status : Answered
Chosen Option : C




Ans

Ans

% C. Cumulative compound DC

#5 D. Differential compound DC

Q.114 Which of the following statements are true or FALSE?

1. Length of the zero vector is unity.
2. The zero vector has no direction.

< A.1-True, 2 - False
" B.1-False, 2-True
25 C.1-True, 2-True
#< D.1-False, 2 - False

colour.
< A. black

" B. silver
25 C. golden
#5 D. grey

Q.115 The tolerance band of a colour-coded resistor having £10% tolerance will be of

Q.112 In electric breaking, the braking energy is converted into energy.
Ans X A light
2 B. heat
< C. chemical
" D. electrical
Question ID : 75322911847
Status : Answered
Chosen Option : B
Q.113 motor has the poorest speed regulation.
Ans  « A DC series
25 B.DC shunt

Question ID : 75322911777
Status : Answered
Chosen Option : A

Question ID : 75322911750
Status : Answered
Chosen Option : A

Question ID : 75322911854
Status : Answered
Chosen Option : C




Q.116 What is the reason for connecting a DC reactor in series with each pole of a converter
station?

Ans X A.Toimprove system stability
" B. To prevent commutation failures in the inverter
#5 C. To increase the power transfer capability

25 D. To supply reactive power to the converter

Question ID : 75322911807
Status : Answered
Chosen Option : C

Q.117 In an AC circuit, the apparent power is 250 VA and active power is 200 W. Find the reactive
power.

Ans X A.100Var
25 B. 50 Var
< C. 200 Var
" D. 150 Var

Question ID : 75322911759
Status : Answered
Chosen Option : D

Q.118 A 3300/250 V, 50 Hz transformer has 75 turns on low voltage winding. Find the number of
turns on high voltage winding.

Ans X A.330

X B.1320
< C. 660
" D.990
Question ID : 75322911781
Status : Answered
Chosen Option : D
Q.119 A 3-point starter is used to start motors.

Ans X A. series and compound
4" B. shunt and compound
25 C. series and shunt

#5 D. only series

Question ID : 75322911839
Status : Answered
Chosen Option : B




Q.120 F5 Fu-it Ft Feargwman e Hiforg, T 5 kg F=2 71 w1 I He =t qureT & 4 kg
CATeeh QTEET 1 FeaTa et 87

Ans X A 04
7 B.06
W Co08
X D02

Question ID : 75322911869
Status : Answered
Chosen Option : C

Q.121 Starting from the transmission system side, the first equipment seen in the substation is a

Ans X A.current transformer
#< B. capacitor bank
" C. lightening arrester
25 D. circuit breaker

Question ID : 75322911836
Status : Answered
Chosen Option : A

Q.122 The internal resistance of an ideal ammeter and an ideal voltmeter are and s

respectively.
Ans X A.finite; finite

X B. zero; zero
¥ C. zero; infinite
#5 D.infinite; zero

Question ID : 75322911756
Status : Answered
Chosen Option : B

Q.123 ______ i ek & g, Tiesfar @ uge ar & ft-RfH (pre-tinning) &t st g1
Ans o A =3 o (bird caging)
/< B. geta &t g1 (surface area loss)
/< C. &eH1g A (thermal mass)
/< D. i9fd&= (weakening)

Question ID : 75322911794
Status : Not Answered
Chosen Option : =




Q.124 When the soil moisture content reduces below , the resistivity of the earth increases

sharply.
Ans X A.75%

X B.5%
< C.50%

«" D.20%
Question ID : 75322911833

Status : Answered
Chosen Option : D

flexibility and cost.

Q.125 Highly conductive materials should have
Ans & A high; low

#5 B. high; high
25 C. low; low
#5 D. low; high

Question ID : 75322911856
Status : Answered
Chosen Option : B

Q.126 For which type of DC generator is the terminal voltage at full load less than the no-load
terminal voltage?

Ans X A. Over compound generator
25 B. Level compound generator
4" C. Under compound generator

#5 D. Flat compound generator

Question ID : 75322911779
Status : Answered
Chosen Option : C

Q.127 Snubber circuit consists of _
Ans X A. parallel combination of inductor and capacitor

#< B. series combination of inductor and capacitor
25 C. series combination of inductor and resistor

«” D. series combination of resistor and capacitor

Question ID : 75322911791
Status : Not Answered
Chosen Option : —




Q.128 At 400 V and 50 Hz, the total core loss in a transformer is 2400 W. When the transformer is
supplied at 200 V, 25 Hz, the core loss is 800 W. Find the hysteresis loss at 400 V, 50 Hz.

Ans X A.1000W
< B.1200 W
" C.800W
< D.1600 W
Question ID : 75322911835

Status : Answered
Chosen Option : D

Q.129 The pick-up value of arelay is 7.5 A and the fault current in the relay coil is 30 A. Its plug-
setting multiplier is .

Ans @ A4
X5 B.8
X C.6
X D.2
Question ID : 75322911819

Status : Answered
Chosen Option : A

Q.130 The area of the region bounded by the curve 3y2 = x, the y-axis and betweeny =2 and y = 4 is:
Ans A. 56 square units

B. 64 square units

C. 48 square units

D. 28 square units

Question ID : 75322911881
Status : Not Answered
Chosen Option : =

Q.131 S 3-% & T 79Y TGISI Bl 1250 A, 1000 MVA, 33 kV TR IC 6T 74T & | IFGH qlicst
(service voltage) y-Td & fouIQ|

Ans X A.100kV
" B.33kV
X C.11kv
X D.66 kv
Question ID : 75322911768

Status : Answered
Chosen Option : A




Q.132 In PLC, is an example of output module and is an example of input module.

Ans " A lamp; pushbutton

#5 B. alarm; lamp
< C. pushbutton; switch

2 D. switch; alarm

Question ID : 75322911823
Status : Answered
Chosen Option : A

Q.133 The insulation resistance of a cable of length 10 km is 0.5 MQ. Find the resistance for 50km
length.

Ans X A.2.5MQ
< B.12.5MQ
« C.0.1MQ
& D.0.5MQ

Question ID : 75322911811
Status : Answered
Chosen Option : D

Q.134 Which of the following statements are true or FALSE?

1. Direct lightening strokes are very rare on the power system.
2. Most lightening strokes are due to positively charged clouds.

Ans 25 A.1-False, 2-True
< B.1-False, 2-False
X C.1-True, 2-True
¥ D.1-True, 2 - False

Question ID : 75322911818
Status : Answered
Chosen Option : C

Q.135 Which type of structure will there be in a pole mounted substation?
Ans X A.C-type
< B.A - type
" C.H-—type
< D.Y -type
Question ID : 75322911837

Status : Answered
Chosen Option : C




Q.136 A A-A connected transformer is connected to V-V connected transformer. The ratio of VArating
of the V-V connected transformer and A-A connected transformer is:

Ans X A 0.777
< B.0.877
" C. 0577
X D.0.677

Question ID : 75322911783
Status : Answered
Chosen Option : C

Q137 The Boolean function represented in th

Ans A ARC+D
. C(AB+D)

X . C+(AB)D

X, ABC+BD
Question ID : 75322911886
Status : Answered
Chosen Option : B

|
Q138 If @ is a vector and ‘¢’ and °k’ are non-zero scalars, then (c +k)d =?

stk
Xy Unity

c (c+ad) (k+a)
D. Zero

Question ID : 75322911880
Status : Not Answered
Chosen Option : -




Q.139 What should be the safety factor for pin type insulators?
Ans X A.5

X B.1
& C.10
X D.25

Question ID : 75322911808
Status : Answered
Chosen Option : C

9140 What will be the differential function of log(x2 + 2)?

Ans 2x
XA -2

(x2 +2)

xco —2 dx

" (x3-2)
2x

e (x% +2)

Question ID : 75322911882
Status : Answered
Chosen Option : D

. —
Q.141 Static Kramer drive is an example of scheme.
Ans X A. stator current control

#5 B. rotor resistance control
«# C. slip power recovery

25 D. stator voltage control

Question ID : 75322911793
Status : Not Answered
Chosen Option : —

Q.142 In a synchronous machine, the stator core is made up of _
Ans X A. cast steel

25 B.castiron
< C. stainless steel

«" D. silicon steel laminations

Question ID : 75322911825
Status : Answered
Chosen Option : A




Ans

Ans

Q.143 Which of the following types of insulators is NOT suitable for a distribution system?

#5 B. Functional block diagram
" C. Structured text
25 D. Ladder logic

A. less than | kg/cm2
B 20 to 30 kg/cm?
c. 200 to 300 kg/cm?

D. 2to 3 kg/cm2

Q.146 Class C Chopper can be operated in:

" A. first and second quadrant
#5 B. second and third quadrant
25 C. third quadrant only

#< D. first and third quadrant

Ans X A. Stay insulator
#< B. Shackle insulator
< C. Pininsulator
+" D. Suspension insulator

Question ID : 75322911845
Status : Answered
Chosen Option : A
Q.144 is NOT a graphical programming language for the programmable logic controller.
Ans X A. Sequential function chart

Question ID : 75322911824
Status : Answered
Chosen Option : C

Q145 The pressure of air in air blast circuit breakers should be of the order of:

Question ID : 75322911897
Status : Answered
Chosen Option : B

Question ID : 75322911792
Status : Not Answered
Chosen Option : —




Q.147 Hay bridge is NOT accurate, if the value of ‘Q’ of the inductor being measured is:
Ans X A.more than 1000

" B.lessthan 10
#< C. between 100 and 1000
25 D. more than 100

Question ID : 75322911855
Status : Answered
Chosen Option : B

Q.148 Bimetallic thermal overload relay is an example of a sensing device.

Ans  # A temperature
#< B.voltage
25 C. pressure

< D. power

Question ID : 75322911878
Status : Answered
Chosen Option : A

Q-149 The given symbol is used for:
Question ID : 75322911885

Status : Answered
Chosen Option : C

A

B

Ans > A XOR gate
< B. NAND gate
« ©c. NOR gate
2< b. AND gate

Q.150 Manganin is an alloy of:
Ans 25 A. copper, aluminium and nickel

" B. copper, manganese and nickel
#< C. aluminium, manganese and nickel

#5 D. iron, manganese and zinc

Question ID : 75322911765
Status : Answered
Chosen Option : A




Section : General Knowledge and Awareness

Q.1 In which year did Mahatma Jyotirao Phule write a book named ‘Gulamgiri'?
Ans X A 1875

< B. 1870
" C. 1873
X D.1871

Question ID : 75322911902
Status : Not Answered
Chosen Option : =

Q.2 FHda g ufvug, sreasEas o HaTey & uarafes P & ordis v gifafes Feem g1
= # wurfora forar mar

Ans X A 1960
/< B. 1955
o C. 1964
< D. 1961

Question ID : 75322911899
Status : Answered
Chosen Option : B

Q.3 wdta iy & P § @ =t a1 srgeas sftam ofik Aferes wesar & wvanr & d@e6fda g2
Ans X A 3wic 20

/< B. ai=g 19

/< C. o=z 18

& D. 3 g 21

Question ID : 75322911916
Status : Answered
Chosen Option : D

Q.4 Which of the following festivals is celebrated as the New Year's Day in Andhra Pradesh?
Ans X A.Pongal

25 B. Lumbini
< C. Visakha Utsav
¥ D.Ugadi

Question ID : 75322911906
Status : Answered
Chosen Option : A




Q.5 &= ar @fw dREred, aiodfat ok gea & gurs én @ &rd & & g agagef g ok
TXhHTY o X ol & &t | A5G hedl g7

Ans X A 3ERA
/< B. i

X C. amgtda
o D. uididms

Question ID : 75322911913
Status : Answered
Chosen Option : A

Q.6 2011 &t FHMUMET & HFAR, 2001-2011 & s=aET v+ § Freder gfE et €
Ans o A 58
X B.47
< C.39
< D.57

Q.7 Where was the Secundrah Bagh, built by Nawab Wajid Ali Shah located, where British forces
led by Campbell killed over 2000 rebel sepoys who held the place in 1857?

Ans " A. Lucknow
< B. Awadh
& C. Jhansi
2< D. Delhi

Question ID : 75322911904
Status : Answered
Chosen Option : C

Q.8 fF=fefae o & fna =& & 9ga Ty« FATY & SR Tady =R  faa @?
Ans X A wrfRel
< B. o=
X C. 3w
o D. 3icich-ar
Question ID : 75322911910

Status : Not Answered
Chosen Option : =




Q.9 In which year was Export-Import Bank of India established?
Ans X A 1981

< B.1983
o C. 1982
2< D.1980

Question ID : 75322911909
Status : Not Answered
Chosen Option : —

Q.10 g gurl & de&fda A <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>